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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-2 ( Subsidiary-2 ) 

ªJÙT«ˆUÔ Yy [ S-2 : Indian Economy (SEC-4) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) \ˆÁÃ[˝„Tˆ Y^ÔÁÃ^y‘„] ◊[˝◊\ˆ~ %UÔÍX◊TˆEı Y◊Ã[˝EıîXÁÃ[˝ 

ÂEıÏ`_m◊_Ã[˝ Y◊Ã[˝[˝Tˆ¤X ÂEıX C ◊Eı\ˆÁ„[˝ H‰ªRÙO‰ªK˜ TˆÁ 
%Á„_ÁªJÙXÁ EıÃ[˝”X*  

 (F) Ã[˝”G¬◊`î EıÁ„Eı [˝„_ ? ◊`îÃ[˝”G¬TˆÁÃ[˝ EıÁÃ[˝Sm◊_       
◊Eı ◊Eı ? ◊`îÃ[˝”G¬TˆÁÃ[˝ Y“◊TˆEıÁ„Ã[˝Ã[˝ LXÓ G c˜›Tˆ 
[˝Ó[˝ÿöˆÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 10 + 8 

 (G) a[˝«L ◊[˝Y¿[˝ EıÁ„Eı [˝„_ ? \ˆÁÃ[˝„Tˆ a[˝«L ◊[˝Y¿„[˝Ã[˝ 
È[˝◊`rÙÓm◊_ ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* \ˆÁÃ[˝„Tˆ E ı◊b 
[˝Ó[˝ÿöˆÁÃ[˝ CYÃ[˝ a[˝«L ◊[˝Y¿„[˝Ã[˝ Y“\ˆÁ[˝m◊_ ◊_F«X* 

   4 + 6 + 10  

 (H) VÁ◊Ã[˝V–Ó ÂÃ[˝FÁ [˝_„Tˆ ◊Eı Â[˝ÁMıÁ„XÁ c˜Ã^ ? \ˆÁÃ[˝Tˆ[˝„bÔ 
V◊Ã[˝V–TˆÁÃ[˝ EıÁÃ[˝Sm◊_ ◊_F«X* V◊Ã[˝V–TˆÁÃ[˝ a]aÓÁÃ[˝ 
a]ÁW˝Á„XÃ[˝ LXÓ \ˆÁÃ[˝Tˆ aÃ[˝EıÁÃ[˝ EıT ˆ¤Eı G c˜›Tˆ 
[˝Ó[˝ÿöˆÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 8 + 10  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) \ˆÁÃ[˝„Tˆ \…ˆ◊] aeïıÁ„Ã[˝Ã[˝ LXÓ G c˜›Tˆ [˝Ó[˝ÿöˆÁm◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X*  
(F) \ˆÁÃ[˝„Tˆ ◊[˝„Eı≥V–›E ıTˆ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ 

Y“„Ã^ÁLX›Ã^TˆÁ ◊[˝‰`¿bS EıÃ[˝”X* 
(G) ""V–”Tˆ LXaeFÓÁ [˝ ◊à˘c˜O \ˆÁÃ[˝„TˆÃ[˝ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ 

Y“W˝ÁX [˝ÁW˝Á*'' — %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(H) 1991 aÁ„_Ã[˝ YÃ[˝[˝Tˆfi %UÔÍX◊TˆEı aeïıÁ„Ã[˝Ã[˝ ^«„G 

\ˆÁÃ[˝Tˆ›Ã^ ◊`î EıÁPˆÁ„]Á„Tˆ ◊Eı W˝Ã[˝„XÃ[˝ Y◊Ã[˝[˝Tˆ¤X H‰ªRÙO‰ªK˜ 
TˆÁÃ[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

(I¯) \ˆÁÃ[˝„Tˆ G–Á]›S E ı◊b @S aÃ[˝[˝Ã[˝Á„c˜Ã[˝ LXÓ   
NABARD-AÃ[˝ \…ˆ◊]EıÁ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªJÙ) \ˆÁÃ[˝„Tˆ Y“TˆÓl˘ È[˝„V◊`Eı ◊[˝◊X„Ã^Á„GÃ[˝ Y„l˘ C ◊[˝Y„l˘ 
^«◊N˛m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) [˝ÓÁ·¯ A[˝e %-[˝ÓÁ·¯ %Á◊UÔEı ]W˝ÓÿöˆTˆÁEıÁÃ[˝› Y“◊TˆúˆÁ„XÃ[˝ 

]„W˝Ó YÁUÔEıÓ EıÃ[˝”X* 
(F) \ˆÁÃ[˝„Tˆ aÁ+“◊TˆEıEıÁ„_ ]«V–Áÿˆïı›◊TˆÃ[˝ EıÁÃ[˝Sm◊_ 

ae„l˘„Y =‰{F EıÃ[˝”X*  
(G) \ˆÁÃ[˝„Tˆ aÃ[˝EıÁÃ[˝› aeÿöˆÁm◊_Ã[˝ Â[˝aÃ[˝EıÁÃ[˝›EıÃ[˝S C 

◊[˝_G¬›EıÃ[˝„SÃ[˝ Y„l˘ ◊Eı ◊Eı ^«◊N˛ ÂVCÃ^Á c˜Ã^ ? 
(H) \ˆÁÃ[˝„Tˆ ◊[˝„V`› Yg«◊L ◊[˝◊X„Ã^Á„GÃ[˝ Âl˘‰y %UÔÍX◊TˆEı 

=VÁÃ[˝›EıÃ[˝„SÃ[˝ X›◊Tˆ ◊Eı\ˆÁ„[˝ Y“„Ã^ÁG EıÃ[˝Á c˜„Ã^‰ªK˜ ? 
(I¯) \ˆÁÃ[˝Tˆ›Ã^ %UÔX›◊Tˆ„Tˆ "◊`îÁÃ^„X ]≥VÁ' W˝ÁÃ[˝SÁ◊ªRÙOÃ[˝ 

ae◊l˘ä [˝ÓÁFÓÁ ◊VX* 
(ªJÙ) =Y^«N˛ =VÁc˜Ã[˝Sac˜ "]…_Ó^«N˛ Eı„Ã[˝Ã[˝' W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* 
(ªK˜) \ˆÁÃ[˝„Tˆ E ı◊b FÁ]Á„Ã[˝Ã[˝ %ÁÃ^TˆX A[˝e ◊[˝y‘Ã^„^ÁGÓ 

=• „w¯Ã[˝ a+EÔı◊ªRÙO =‰{F EıÃ[˝”X* 
(L) \ˆÁÃ[˝Tˆ›Ã^ EıÃ[˝-EıÁPˆÁ„]ÁÃ[˝ È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* 
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1. Answer any two questions : 20 × 2 = 40 
(a) Discuss why and how strategies of different 

economic plans in India have changed 
gradually at different stages. 

(b) What do you mean by sick industry ? What 
are the causes of industrial sickness ? 
Discuss the measures adopted to remedy 
the problem of industrial sickness. 

  2 + 10 + 8 
(c) What is Green Revolution ? Explain in brief 

the features of Green Revolution in India. 
Write down the effects of Green Revolution 
on Indian agricultural system. 4 + 6 + 10 

(d) What do you mean by poverty line ? Write 
down the causes of poverty in India. 
Discuss the different measures adopted by 
the Government of India to solve the 
problem of poverty. 2 + 8 + 10 

2. Answer any three questions  : 12 × 3 = 36 
(a) Discuss the measures adopted for land 

reforms in India. 
(b) Analyse the need for decentralised 

economic development in India. 
(c) "Rapid population growth is the main 

obstacle in Indian economic development." 
Discuss. 

(d) Explain what changes have taken place in 
India's industrial structure during the 
period of economic reforms since 1991 
onwards in India.  

(e) Discuss the role of NABARD in providing 
rural agricultural credit.  

(f) Discuss the arguments for and against 
direct foreign investment in India. 

3. Answer any four questions  : 6 × 4 = 24 

(a) Distinguish between Bank and Non-Bank 
financial intermediaries.  

(b) Mention in brief the causes behind inflation 
in India in recent years.  

(c) What arguments are put forward in favour 
of privatisation and disinvestment in public 
sector enterprises of India ? 

(d) How has the policy of economic 
liberalisation been applied in the field of 
investment of foreign capital in India ?  

(e) Discuss in brief about industrial 
deceleration in Indian economy. 

(f) Explain the idea of the value added tax 
with appropriate example.  

(g) Mention the relation between farm size and 
marketable surplus in India.  

(h) Mention the characteristics of Indian tax 
system. 

    


